
Урок математики.
Тема урока:

Вычитание 
многозначных 

чисел



200 – 80 : 2 600 – 120 : (4 + 2) (100 + 580) - 480

(300 – 90) : 3

1мин 10с + 50с

46 + 66 + 54 63 + 100 + 37

1км 600м – 700м 1т 550кг + 450кг



160 600 – 120 : (4 + 2) (100 + 580) - 480

(300 – 90) : 3

1мин 10с + 50с

46 + 66 + 54 63 + 100 + 37

1км 600м – 700м 1т 550кг + 450кг



160 580 (100 + 580) - 480

(300 – 90) : 3

1мин 10с + 50с

46 + 66 + 54 63 + 100 + 37

1км 600м – 700м 1т 550кг + 450кг



160 580 200

(300 – 90) : 3

1мин 10с + 50с

46 + 66 + 54 63 + 100 + 37

1км 600м – 700м 1т 550кг + 450кг



160 580 200

70

1мин 10с + 50с

46 + 66 + 54 63 + 100 + 37

1км 600м – 700м 1т 550кг + 450кг



160 580 200

70

1мин 10с + 50с

166 63 + 100 + 37

1км 600м – 700м 1т 550кг + 450кг



160 580 200

70

1мин 10с + 50с

166 200

1км 600м – 700м 1т 550кг + 450кг



160 580 200

70

2 мин

166 200

1км 600м – 700м 1т 550кг + 450кг



160 580 200

70

2 мин

166 200

900 м 1т 550кг + 450кг



160 580 200

70

2 мин

166 200

900 м 2 т



160 580 200

70

2 мин

166 200

900 м 2 т







Река Северная Двина



Река   Пинега



Река Мезень



Река   Вычегда



                                         
Численность населения 

Архангельска - 350 982 чел.



  

Основание Архангельска – 
1584 год



Найди значение 
выражения.

98888+(60100-7302)-5214=
12 3





Источники:

• http://www.myshared.ru/slide/11610/
• http://www.zavuch.ru/methodlib/305/64503/#sthash.RQZ6GmQS.dp

bs


